
1) 73.2 - 39.9

Answer: ____________

2) Decrease 10 by 20%

Answer: ____________

3) Decrease 10 by 20%

Answer: ____________

4) 89.54 ÷ 12.1

Answer: ____________

5) (-70) + 75

Answer: ____________

6) Round 27.55 to 1 significant figures.

Answer: ____________

7) Convert the following mixed number 
109/3 into an improper fraction.

Answer: ____________

8) Round 12.92034271 to 5 significant 
figures.

Answer: ____________

9) Simplify 7:18

Answer: ____________

10) 47.8 - 77.1

Answer: ____________

11)
19  Find Volume of 
               18       Cylinder 

Answer: ____________

12) Round 24.5159 to 1 significant 
figures.

Answer: ____________

13) 252.8 ÷ 15.8

Answer: ____________

14) Simplify 11:18

Answer: ____________

15) Write 20000 in standard form.

Answer: ____________
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16) Decrease 25 by 48%

Answer: ____________

17) (9 x 58) - (2 x 29)

Answer: ____________

18) Convert the following mixed number 
31/9 into an improper fraction.

Answer: ____________

19) Convert the following mixed number 
31/9 into an improper fraction.

Answer: ____________

20) Write 9000000000 in standard form.

Answer: ____________

Total: ___ / 20
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Answers:

1) 33.3 2) 8 3) 8 4) 7.4 5) 5 6) 30 7) 13/1

8) 12.92 9) 7 : 18 10) -29.3 11) 19339.644375499 12) 20 13) 16 14) 11 : 18

15) 2 x 104 16) 13 17) 3514601 18) 28/9 19) 28/9 20) 9 x 109
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